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1p 9 ‘“We do get some funny looks”’ (paragraph 4)  
Why is that?  
A People are not used to seeing famous athletes training in public.  
B People do not realise that pushing a Mini is part of their training.  
C The Mini Cooper draws attention because it looks quite battered.  
D The two athletes are clearly too big to fit comfortably in a Mini. 
 

1p 10 What is said about the 1988 Jamaican bobsledders in paragraph 5?  
A They failed at the Olympics but a film was made about their efforts to 

compete. 
B They managed to turn bobsleighing into the most popular sport of 

Jamaica. 
C They were so fast that breaking their record will become extremely 

difficult. 
 

1p 11 Kies bij    11    in alinea 6 het juiste antwoord uit de gegeven 
mogelijkheden. 
A Although 
B Because 
C Since 
 
 

Tekst 5  Bears and wolves to coexist in UK woods for first time 
                    in 1,000 years 

 
1p 12 What becomes clear about the Wild Place Project in paragraphs 1 and 2? 

A It aims to improve the living conditions of endangered wildlife that is 
kept in captivity. 

B It has been set up to get native wildlife living together in the same area 
again. 

C It is a breeding programme that aims to prevent the extermination of 
wildlife. 

 
1p 13 What is the aim of paragraph 3? 

A to give a description of the present set-up of the wildlife area 
B to illustrate why animals and people are not supposed to mingle 
C to persuade owners of woodlands to invest in this scheme 
D to stress that the new attraction can handle lots of visitors  
 

1p 14 How can the attitude of Justin Morris (paragraphs 4 to 6) towards the 
project be described best? 
A as mostly surprised 
B as quite confident 
C as rather indifferent 
D as slightly worried 
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1p 15 Which word fits best as a subtitle for paragraph 5?  
A evolution 
B interaction 
C opposition 
D survival 
 

1p 16 ‘further the discussion on reintroducing species that have disappeared’ 
(alinea 6) 
 In welke zin wordt dit voor het eerst als een reden voor het project 

genoemd? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin. 
 

1p 17 Which is one of the additional positive effects of the project mentioned in 
paragraph 6? 
A It will be a means of repairing local ecological damage. 
B It will create more attention for the forests in Britain. 
C It will help preserve nature reserves in Africa. 
D It will make purchasing more land for nature easier. 
 

1p 18 ‘Obviously they are designed for that’ (alinea 7) 
 In welke eerdere alinea is dit al eens opgemerkt? 
Noteer het nummer van deze alinea. 
 
 

Tekst 6  Smokejumpers  
 

1p 19 What is special about the smokejumpers, according to paragraph 1? 
A They are asked to join the brigade because they like heights. 
B They combine their fire-fighting activities with a regular job. 
C They go to areas that can only be reached through the air. 
D They like being in charge under difficult circumstances. 
 

1p 20 Which of the following describes paragraph 2 best? 
A It explains why ‘smokejumpers’ have become popular. 
B It gives background information about ‘smokejumpers’. 
C It makes clear that ‘smokejumpers’ are quite unique. 
D It stresses that ‘smokejumpers’ are in high demand. 
 

1p 21 Geef van de volgende beweringen over ‘smokejumpers’ aan of ze 
overeenkomen met de inhoud van alinea 3. 
Omcirkel ‘wel’ of ‘niet’ achter elk nummer in de uitwerkbijlage. 
1 Ze worden aan boord ondersteund door specialisten die zoeken naar 

het beste landingspunt. 
2 Ze zijn gespecialiseerd in het evacueren van bewoners uit 

risicogebieden. 
 
 


